
Replacement Parts/Repuestos/Pièces de rechange

D500058T (A607314)

D500058T (V5)

1☉. Metal Handle Assembly/Ensamblaje de manija metálicas/Assemblage de manette en métal
2. O-Ring (Ø2-9/16" ID * Ø2-11/16" OD)/Empaque circular (Ø2-9/16 pulg. ID * Ø2-11/16 pulg. OD)/
 Joint torique (Ø2-9/16 po ID * Ø2-11/16 po OD)
3☉. Base/Base/Base
4☉. Shower Head/Cabeza de ducha/Pomme de douche
5. Screen Washer/Arandela con criba/Tamis et rondelle
6. Hex Wrench (H3.18 * 20mm L * 90mm L)/Llave hexagonal (H3.18 * 20mm L * 90mm L)/Clé hexagonale (H3.18 * 20mm L * 90mm L)
7☉. Shower Arm/Brazo de ducha/Bras de douche
8☉. Flange/Brida/Bride
9. Screw (3/16" - 24 * 4" L)/Tornillo (3/16 pulg. - 24 * 4 pulg. L)/Vis (3/16 po - 24 * 4 po L)
10. Hex Wrench (H2.5 * 19mm L * 53mm L)/Llave hexagonal (H2.5 * 19mm L*53mm L)/Clé hexagonale (H2.5 * 19mm L * 53mm L)
11. Seal/Sello/Rondelle étanche
12. Seal/Sello/Rondelle étanche
13. Flow Straightener Wrench/Llave para la boquilla emparejadora/Clé de stabilisateur d'écoulement
14. Screw (M5 * 5mm L)/Tornillo (M5 * 5mm L)/Vis (M5 * 5mm L)
15☉. Washer & Clip Kit/Arandela y juego de seguro/Rondelle et ensemble de collier
16. O-Ring (Ø9/16" ID * Ø13/16" OD)/Empaque circular (Ø9/16 pulg. ID * Ø13/16 pulg. OD)/
 Joint torique (Ø9/16 po ID * Ø13/16 po OD)
17. O-Ring (Ø13/16" ID *Ø1" OD)/Empaque circular (Ø13/16 pulg. ID *Ø1 pulg. OD)/Joint torique (Ø13/16 po ID *Ø1 po OD)
18 . Screw (1/4" - 20 UNC * 7/16" L)/Tornillo (1/4 pulg. - 20 UNC *  7/16 pulg. L)/Vis (1/4 po - 20 UNC * 7/16 po L)
19☉. Spout/Vertedor/bec
20. Aerator/Aireador/Brise-jet
21. Sleeve Assembly/Ensamblaje del manga/Assemblage de manchon
22☉. Flange/Brida/Bride

A602510
A063096

A607210
S14C1400
A022028
A031017
A020002
A019306
A075005
A031000
A010568
A060253

A031214NI
A075209

A603720N
A004517

A004518
A075206
A523264
A603646
A603187
A303070

20. 6.
22.

21. 17.16.

18.

19.

14.

8.

7.

4.

10.

11.

12.
15.

13.

9.

3. 2.

1.

5.

Need Help? Please call our toll-free Customer service line at 1-888-328-2383 or WWW.DANZE.COM for additional assistance or service.

Requiere asistencia? Favor llamar a nuestro servicio a clientes sin costo al 1-888-328-2383 o WWW.DANZE.COM para asistencia adicional o servicio. 

Besoin d’aide? Veuillez communiquer avec notre service à la clientèle au numéro sans frais 1-888-328-2383 ou WWW.DANZE.COM pour obtenir du 

service ou de l’aide additionnels.


